BELLWORK

PROBLEM #1

James is married, has two exemptions and makes $720. 00 a week. Based on the schedule
below calculate his state withholding tax. - Show your work

| 4.25% of excess over 600,00 plus

00.00
and over| 25.50 | 22.27 | 19.04 | 15.81 | 12,58 | 8,35 | 6.12 | 2.88

PROBLEM #2

Maryann is single , has 1 exemption and makes $1400. 00 semi-monthly. Based on the
schedule below calculate her state withholding tax - Show your work

| 4.25% of excess over 1264,00 plus

1264.00

and over| 53.72 | 46,73 | 39.74 | 32.75 | 25,76 | 18.77 | 11.78 4.78




